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reg_asym_sam3 RMS (ppm)
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reg_asym_sam5 RMS (ppm)
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reg_asym_samé6 RMS (ppm)
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1D pull distribution
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reg_asym_sam7 RMS (ppm)
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reg_asym_sam8 RMS (ppm)
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reg_asym_sam_15 avg RMS (ppm)
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reg_asym_sam_26_avg RMS (ppm)
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reg_asym_sam_37_avg RMS (ppm)
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1D pull distribution
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Mean

0.918 + 0.08451

Std Dev

Underflow

Overflow
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asym_sam_15 avg RMS (ppm)
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asym_sam_26 avg RMS (ppm)
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asym_sam_48 avg RMS (ppm)
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asym_sam_15 dd RMS (ppm)
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asym_sam_26_dd RMS (ppm)
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asym_sam_37_dd RMS (ppm)
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asym_sam_48 dd RMS (ppm)
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diff_bpm4aX RMS (ppm)
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diff_bpm4eX RMS (ppm)
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diff_bpm4aY RMS (ppm)
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diff_bpm12X RMS (ppm)

‘ pu—

‘ p—

. p—

. —

. —

. —

. —

. —

. —

.l

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. p—

. p—

. p—

. p—

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

. —

_______________________________L______u_.
0 N~ © Te} < ™ N b
N N N N N 3\ N N

(wdd) sny

2'eSrS
T'eavs
0'€srs
¢TSS
T'TSvS
0'TSYS
T'0svS
0'0SvS
T'6vvS
0'6¥vS
0'8¥vS
T'LvvS
0'L¥vvS
0'9rvS
8'GvvS
LSS
9'S¥vS
S'SvrS
v'svvS
€'arS
2SS
1SS
0's¥vrS
S'vrrs
V'yvvvs
€vrrs
s
Tyvvs
0'v¥S
9'EVYS
S'evrS
V'Evys
€errs
2'evrs
TEVYS
0'ervs
S¢S
v'evvs
€errs
cervs
Tevvs
0'¢crvs
9'TrvS
S'TvvS
V' Ivvs
€IS
TS
TIvvs
0TS
9'0vvS
S'0vvS
v'orvs
€0orvs
2ovrs
Tovvs
0'0vvS
2'6EVS
T'6EVS
0'6EVS



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74


